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      EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                                                                                                 Date: 01-09-2020 

 

1. Dr. V.K. Saraswat Steering Committee, recently seen in news, is related to: 

a) development of Surface Coal Gasification in India 

b) preparing long Term Food Policy. 

c) review the draft of the National Code for Good Governance in sports. 

d) review the regulatory guidelines and supervisory framework of Core Investment Companies. 

 

2.  ‘Rashtriya Khel Protsahan Puruskar 2020’ was recently awarded to: 

a) JSW Sports                 

b) Gagan Narang            

c) Air Force Sports Control Board  

d) None of the above 

 

3. CSIR-CMERI has developed the World’s Largest Solar Tree in: 

a) Durgapur                         b) Jodhpur                       c) Tumakuru                                d) Kurnool 

 

4. Consider the following statements with reference to the ‘Quantum State Interferography’: 

1) It can help make such manipulations simpler so that several crucial operations in quantum 

technologies become less cumbersome. 

2) A qubit is a 3-dimensional quantum system and requires usually 2 complex numbers to be determined 

towards state estimation. 

Which of the statements given above is/are correct? 

a) 1 only                                 b) 2 only                    c) Both 1 and 2                         d) Neither 1 nor 2 

 

5. Consider the following statements with reference to the India and Japan relations: 

1) Japan has committed an official Development Assistance loan of 3,500 crore rupees for the COVID-

19 Crisis Emergency Response Support to India. 

2) Japan International Cooperation Agency, JICA is a governmental agency that coordinates Official 

Development Assistance for the Government of Japan. 

Which of the statements given above is/are correct? 

a) 1 only                      b) 2 only                       c) Both 1 and 2                         d) Neither 1 nor 2 

 

6. Mujib Barsho is the birth centenary year of who among the following? 

a) Sheikh Mujibur Rahman           

b) Muhammad Ali Jinnah 

c) Liaquat Ali Khan 

d) Muhammad Iqbal  

 

7. Consider the following statements with reference to the monetary policy: 

1) RBI has decided to allow banks to hold fresh acquisitions of statutory liquidity ratio (SLR) securities 

acquired from September 1, 2020, under Held-To-Maturity (HTM) up to an overall limit of 22 % of 

net demand and time liabilities (NDTL) up to March 31, 2021. 

2) Currently, banks are required to maintain 18 per cent of their reserves in SLR securities. 
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Which of the statements given above is/are correct? 

a) 1 only                    b) 2 only                          c) Both 1 and 2                           d) Neither 1 nor 2 

 

8. With reference to BIPOC, which of the following is/are correct? 

1) It is a movement which asks for the end of trade war and bipolar world. 

2) The term is used to reinforce the collective experience of people and unite them. 

Choose the correct option from the codes given below. 

a) 1 only                       b) 2 only                         c) Both 1 and 2                        d) Neither 1 nor 2 

 

9. Consider the following statements: 

1) Article 47 of the Indian constitution provides protection to persons with disability. 

2) The subject of ‘relief of the disabled and unemployable’ is specified in the state list of the Seventh 

Schedule of the constitution. 

Which of the following statements given above is/are correct? 

a) 1 only                            b) 2 only                       c) Both 1 and 2                       d) Neither 1 nor 2 

 

10. With reference to the Kavkaz 2020, consider the following statements 

1) It is a multinational tri-services exercise to be conducted in Russia. 

2) SCO member countries are participating in this exercise. 

3) India will also participate in this military exercise. 

Which of the statements given above is/are correct? 

a) 1 only                            b) 1 and 2 only                      c) 1 and 3 only                     d) 1, 2 and 3 only 

   


